Specifications and procedures subject to change without notice.

Made in America

A. Brass machined hex block with 6 banana jacks

(.162" - .164" + .002" ID) and 6 screw terminals for #10 ring terminals.

w

6’ long, high flex strand copper, 20 gauge, with PVC insulated jacket.

Greenlyellow wire terminated with a .200” I.D. #10 ring terminal.

Six 10-32 x 1/4” round screws.
Six #10 split washers.

10-32 x 1-3/4” socket head screw.
10-32 hex nut.

One #10 split washer.

Banana plug (not included). Shown for
application only.

ITOmMmMmODO

COMMON POINT GROUND

Per ANSI/EOS/ESD S6.1, Grounding paragraph 4.1.1 “Every
element to be grounded at an ESD protected station shall be
connected to the same common point ground.”

ESD Handbook TR 20.20 paragraph 5.1.3 Basic Grounding
Requirements “The first step in ensuring that everything in

an EPA is at the same electrical potential is to ground all
conductive components of the work area (worksurfaces, people,
equipment, etc.) to the same electrical ground point. This point
is called the common point ground. The next step in completing
the ground circuit is to connect the common point ground to the
equipment ground (third wire, green).”

o

B

@@=

B

Mounting the 09837 to a table top.

my] ©)

U

Mounting the 09837 to a table leg.

ITEM DESCRIPTION

09837 | Multi-Ground Hub

HUB, MULTI GROUNDING

PHONE (909) 627-8178 FAX (909) 627-7449

PHONE (781) 821-8370 FAX (781) 575-0172

DESCO WEST: 3651 WALNUT AVE., CHINO, CA 91710 WEB SITE: Desco.com

DESCO EAST: ONE COLGATE WAY, CANTON, MA 02021-1407

DRAWING
NUMBER
09837

DATE:
December
2010

© 2010 DESCO INDUSTRIES INC.

Employee Owned



http://www.desco.com/DescoCatalog/WorksurfaceMatsGroundingHardware/GroundingHardware/CommonPointGroundCords/09837/
http://www.desco.com
http://www.desco.com

@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

